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Promotion Examination — 2019
Class — X] A, B,CandD
MATHEMATICS

Time : 3:00 Hrs { + 15 Minutes Reading Time } Max. Marks : 100

General Instructions :-

i The question paper consists of 29 questions divided into Jour sections A, B, Cand D.
SECTION A : Comprises of 4 questions of I mark each.
SECTION B : Comprises of 8 questions of 2 marks each.
SECTION C : Comprises of 11 questions of 4 marks each.
) SE CTIOND : Comprises of 6 questions of 6 marks each.
il. Al questions are compulsory; in some question internal choice is given.
iii. Ty to attempt the question in serial order.
iv.  Use of calculator is not allowed.

SECTION - A
{ Question number 1 to 4 carry 1 mark each }

1. Prove that : (Sin3x + Sinx).Sinx + (Cos3x — Cosx).Cosx = 0.

OR

Prove that : Sindx = 4.Sinx.Cos’x - 4.Cosx.Sin’x.

2. Solve the quadratic equation : x4+ x+1 =0.
3. A man starts repaying a loan as first installments of ¥100. If he increases the installment by %5
every month, what amount will he pay in the 30"™ installment?
4. A coin is tossed 3 times and the outcomes are recorded. How many possible outcomes are there?
SECTION - B
{ Question number 5 to 12 carry 2 mark each }
5 If R is the set of real numbers and Q is the set of rational numbers then what is R- Q?

OR

Let U={1,2,3,4,56)}, A= {23} and B= {3,4,5}. Showthat (AUB)' = A'n B'.
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10.

11.

12.

13.

14.

15.

16.

Sin5x—ZSin3X+5mx = tanx
Prove that : Cos5x—CosX

3
1:Y) inthe form a -+ ib.
Express (-—2 - gl) int

Using Binomial theorem, indicate which number is larger (1.1)'%% 4. 1000.
OR
n 3.’..ncr - 4l'l.

Prove that : 2.r=0
Find the sum of the first n terms of the series 1 + §+ %+ o
Find the equation of the line parallel to the line 3x — 4y +2 =0 and passing through the
point (-2,3).
OR
Find the equation of the line perpendicular to the line x —7y+ 5 =0 and having x-intercept 3.
Find the equation of the ellipse whose vertices are (+13,0) and foci (+5,0).
The centroid of a triangle ABC is at the point ( 1, 1, 1). If the co-ordinate of A and B are

(3,-5,7) and (-1,7,-6) respectively, find the co-ordinates of the point C.

SECTION -C
{ Question number 13 to 23 carry 4 mark each }

b) signum function.

Define the following : a) the modulus function
Draw the appropriate venn diagram for : a) (AUB)’ b) ATNB"
Solve : Sin2x — Sin4x + Sin6x = 0.

OR

Solve : 2Cos?x + 3Sinx = 0.

1 2n+2 . 5L . :
Using the Principle of mathematical induction for all 1 € N, prove that 3 8n—9 is

divisible by 8.
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18.

19.

20.

21.

22.

23.

24,

25.

Reduce (L—- i-) (ﬂ
1-4i 1+ /551 ) tothe standard form.

OR

If (x+iy)’=u+iv, thensh LRI A
sowlhatx+y— 4(x% — y?).

In how many ways can one select a cricket team of eleven from 17 players in which only 5 players

can bowl if each cricket team of eleven must include exactly 4 bowlers?

Find the sum to n terms of the series : 1 X2x3 + 2x3x4 + 3xX4X5 + ...
Find the equation of the circle passing through ( 0, 0 ) and making intercepts a and b on the
co-ordinate axes.

Find lim,_4 f(x) where, f(x) ={ 2_1 x> 1°
—x¢-1, x

OR
x—2, x<0
Find limy_,q f(x) where, f(x) = {O, x=0.
x+2, x>0

Find the mean deviation about the mean of the following data :

Xj|2]5] 6 |8]10]12
f;12|8]10|7| 8|5
A letter is chosen at random from the word “ ASSASSINATION . Find the probability thet letter

is a) a vowel b) a consonant.
SECTION-D
{ Question number 24 to 29 carry 6 mark each }

Solve the system of inequalities graphically :

2x+y =24, x+Yy <3and 2x—3y <6.
Findthesumtontermsoftheseries 54+11+19+29+41+....
OR

Find the sum to n terms of the series whose a,=n(n+1 (n+4).
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26.

27.

28.

29.

In the triangle ABC with'the vertices A(2,3), B(4,-1) apq C( 1,2), find the equation and

length of altitude from the vertex A.

Find the derivative of Cosecx using first principle.
OR
Find the derivative of Cotx using first principle.

Find the mean, variance and standard deviation using short-cut method :

Height
& 70-75 | 75-80 | 80-85 | 85-90 | 90-95 | 95-100 | 100-105 105-110| 110-115
in cm
No. of
3 4 7 7 15 9 6 6 3
children \
OR

Calculate mean, variance and standard deviation for the following distribution :

Classes | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
Frequency | 3 7 12 15 8 3 2

A bag contains 9 discs of which 4 are red 3 are blue and 2 are yellow. The discs are similar in

shape and size. A disc is drawn at random from the bag. Calculate the probability that it will be

a) red b) not blue c) either red or blue.

Tk Rk kkkk ; S w
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FINAL PROMOTION EXAMINATION - 2019

Computer Science

Class XI
Time 3hrs.+ 15 min reading time M.M 70
Note
All questions are compulsary.
The questions are to be answered in the same sequence.
Marks will be deducted for poor presentation/iogic.
Go through the question paper carefully and get your doubts cleared when enquired.
Leave OR draw a line after each answer.
Q.1:-State whether the following statements are TRUE or FALSE:- [51]
a. A structure can be defined inside main().
b. while() is an entry controlled loop.
C. The correct syntax of string copy function is strcpy (destination,source);
d. A function can be declared in a structure.
e. The ASCII code of upper case alphabets is lesser than lower case alphabets.
Q.2:-Fill in the blanks:- [5]
a Catenation is a process of ................ two strings.
b. if char a[ ]="Big " and b []="Bug" then after strcpy(b,a) value of b will be .................
C. If char x[ ]="You are the best";then NULL is found at ......... position.
d. A function cannot return a value.
e. if float x| ]={3.14,12.432,0.14} then sizeof(x) = .............
Q.3:-List the header files if required for the following: [5]
Copy the terms in one columns and your responce in second column
a.  Random() (b) Strepy() (c) sizeof) (d) itoa()
e. tolower()
Q.4:-What name will you give to:- [5]
a The process of binding of some data types under a common name.
b. A loop which keeps and keeps repeating.
C. A set of variables which point to the same location in the memory
d. The process of interchanging values between two variable.
e. A variable begining with & sign.
Q.5:-Write one difference for each of the following [5]

g o

o

( Answer in column format strictly / Write proper headings )

call by value and call be reference.
randomize( ) and random().
int main( ) and void main()

strcat( ) and strepy( ).

inbuilt functions and user defined functions
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Q.6:-Answer the following:-
Suppose an array flo
help in determining the number of elements in the array. Give proper example.

a.

[15]
t num[ ] hold a certain amount of numbers.Suggest a method which will

Declare a structuré named item to hold item related information like Name of Item , Quantity,
Company, Costin rupees. Your definition should also declare two variables Indian and

Foreign of the sameé type. You may choose suitable variable names of each field and their data

types wherever required.
Write two advantages of using functions in a program ? List the types of functions which

can be presentin a C++ program.
What is a structure ? Write two advantages of using them. Also write two precatutions while

using a structure.
What is sizeof() .Why is it used. What type of value is returned by it ? Differentiate between

strlen( ) and sizof( )

Q.7--Study the following programs and answer the guestion given below eachprogram.

Non-inclusion of header files may not be treated as error.In case you find something wrong in any prograi,

explain the error briefly.

Do not copy any part of both the programs given below

PROGRAM7(a)

void main() [5]
{

clrscr();
int fun(int,int);
intx,y=-25,z=-75;
x = fun(y,z);
y = fun(z,x);
z = fun(x,y);
cout<<x<<" “<<gy<<" “<<z;
getch();
}
int fun(int a,int b)
{
int sum=0:
a=a+b;
b=b-a:
a=b+a;
Sum=a+b;

r‘eturn SUm,

}
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PROGRAM 7 (b)

#include “iostream.h”

#include “conio.h"

int n[4][4]={1.2,3,4\5,8,7,8,9.10.11,12,13.14.15 16},
main() o
{

int i,j,sm=0;

clrser();

for(i=0;i<=3;i++)

i

[5]

for(j=3:j>=iij—)
sm=sm+n[j][1);
}
cout<<*Total="<<sm;
getch();
return O;

}

Write the output of both of the programs numbered 7(a) and 7(b).

PROGRAMMING SECTION ( 10 marks each )

Variables highlighted in the questions should be used in your programs.Additional variables may be taken as per choice.

Q.9 Write a program to create a structure [ stu ] wi

Q.8 Array (acc) has to hoids 10 iransactions made by a customer during a particular year in the form of

debit or credit. The debit is represented by 0 (zero) and credit by 1 along with the amount as shown
below for two transactions.

amt[10]={12155,0,651255,1, ........ };
which mean Rs.12155 were debited and Rs.65125 credited
Develop the program which declares the array and also two functions named
db()andecr()to accumulate separately the amount debited and credited. At the end the total amount
debited /credited should be displayed in main(). _
Store the data directly as per your choice and it should be shown on the answer sheet. (full data of 10
transactions )
Your program should also make a provision in case of any negative value is found in the array, the
program should terminate with a message.

SIR Kindly verify the data.

th the following fields

Name [ nam ], Roll Number [ rn ], Marks [mks]of3 subjects [ phy , chem, maths in the range 10 and
99 ). Also show the data storageé of atleast two students.

Now on choice your program should display

(@ Names, marks and name of subject of those students who failed in any subject ( ie mks<33 )

(b) Details of each student with their total marks.

A
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Promotion Examination (2018-2019)
Class - XI
Physical Education

Time:- 3:00 Hours(+15 Min. Reading Time)

e v -
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MM: 70

:

General Instructions:

All questions are compulsory

Answer to question carrying 1 mark should be approximately 20-30 words each
Answer to question carrying 3 mark should be approximately 80-90 words each
Answer to question carrying 5 mark should be approximately 150-200 words each

Q1. Very short answer type questions.
1.

00NN

Define physical education.

When was the First recorded Olympic games held in ancient Greece?
What do you mean by flexibility?

Define adaptive physical education.

What do you mean by Yoga.

What do you understand by Adventure sports?

Define waist-hip ratio.

What do you mean by muscles?

What is centripetal force?

10. What is meant by Adolescence?

11. What are the two types of warming up?

Q2. Short answers type questions.

i,
2,
3.

PN

Explain the components of wellness.

Write short notes on - Samadhi Pratyahara and Dhyana

Describe briefly how the following body aspects and parts are measured
a.Height b.weight c. Arm length

What are functions of the skeletal system.

What are the different types of levers.

Differentiate growth and development.

Enlist the performance related symptoms of overload.

Discuss the responsibilities of an athlete.

Q3. Long answer type questions

No s W=

What are some of the career options in physical education? Write any five
Write in detail about the objectives of the IOA.

What are the components of physical fitness? Discuss in detail.

Briefly explain the role and qualities of aleader.

Write an essay on the three somato types described by W. H Sheldon
Discuss in detail the importance of sports psychology

What are different performance enhancing drugs? Write in detail.

ISR

DR A R 2 ATHEA R

Scan

(1X11=11] Marks

(3X8=24)Marks

(5X7=35) Marks

ned by CamScanner |



FINAL EXAMINATION — 2019

ENGLISH CORE
CLASS - X1 (A
Time: 3 Hrs. &5 GD) DRSO
GENERAL INSTRUCTIONS:
; . This paper is divi_ded into three sections - A,B and C. All sections are compulsory.
. Read the instructions carefully and do not exceed the word limit.
3. Follow the sequence of the question paper.

SECTION -A
(READING SKILLS) (20 MARKS) (12 Marks)

1. Read the passage given below and answer the questions that follow:

Delhi has grown into a city that shuns children. It is now an urban sprawl, its development
model skewed in favour of motorised traffic and commercial capitalization. This has snatched
play fields from kids. With vehicles both stationary and on the move occupying every inch
of space available, the roads and even lanes and bylanes are out of bounds for the little ones
unlike in American and European cities, there are few public spaces where one can hang out.
No wonder, our children spend a lot of time indoors, glued to the TV, PC or mobile screens.
Tt's time,' urban planning experts say, 'to reconsider Delhi's growth with the welfare of its
children in mind.'

Supreme Court Judge Kurian Joseph, expressed his anguish at the shrinking playing space for
children in Delhi. The condition of the parks in the city, he said in the letter, was a "'serious
violation of human rights of children" as it was "their right in their tender times to have a

decent environment to play and frolic around."

Kuldeep Singh, an architect and urban planner, who worked with DDA during 1956-57 to
bring out Delhi's first master plan, explained how initially children's needs were the town
planner's priority. "Space standards were set very rationally, and in every neighborhood, a
huge open space was reserved for children which we called 'tot-lots’. "This was the place
where we thought children would get a space to play and mingle with each other and we kept
it away from roads," recalled Singh. However, due to administrative reasons, the idea of

ot-lots' had to be dropped and regrettably, was never entertained again.

"Over the years, circumstances have changed and people are reluctant to let their children go
out without some kind of security, as a result of which the children are now suffering." says
Mr. Singh. Before it's too late, Mr. Singh hopes the few open spaces fgr kids are restored and
protected from vehicles looking for parking lots. Another u'rban planning expert says the first
rectification Delhi's development model needs to carry out is to ensure mobility of children.

"Two thousand pedestrians die on Delhi's roads every year of whicl} several are children.
t be a dearth of green spaces in Delhi, the city has a unique advantage on that
front but kids have no safe means to reach their places indep(?ndently," says Manjit Rastogi,
founder of architecture firm Morphogenesis. "It is catastrophic to learn about child mortality
on Delhi's roads but, on the other hand, you have the tragedy of kids being confined to their
homes," points out Mr. Rastogi. "From a-city of cars, Delhi needs to become a city of

There may no
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pedestrians where children can enjoy and identify themselves with their surroundings.”" he

adds.

Developing public spaces i colourf_‘ul street furniture, Swings, art installations, etc., could
draw in kids and bring them out Ofthelr_ homes. DDA officia[s say their focus is on balanced
development of the city, which ta.k €S Into account children's recreational needs. "DDA is

I.  Answer the following questions in one or twe sentences only. (1x4=4)
i) Delhi has green spaces, but kids cannot enjoy them. Why?
i) What do you mean by "balanced development of Delhi"?
11i) What do you understand from 'tot Jots'?
iv) According to the passage what is it that deprives the children in Delhi of all the open

spaces?
II. Select the correct option from the ones given below: (1x6=6)
(2) The verb form of 'priority" is ...........................
(i) prior (ii) priosy (ii) prioritize  (iv) None
(b) The phrasal verb 'draw in' means................... .
(1) putin (ii) draw a picture |

(iii) draw a match (iv) to persuade to join or entice

(¢) The passage suggests that ..................
(1) Delhi kids enjoy sitting in front of TV
(ii) Delhi has taken care of recreational needs of the kids
(iii) Several children die on roads in Delhi
(iv) Motorists are not favoured by the city planners

(d) Which of the following does not support the statement 'Delhi shuns children'?
() Delhi's development model is skewed in favour of motorised traffic.

- (i) Delhi kids have been deprived of play fields.

(1ii) The few public spaces where children can hang out are not safe to reach.
(iv) DDA is working on Transit Oriented Development.

(e) Which of the following statement is true ?
() In past, children's needs were a priority for city planners.

(ii) Delhi has an acute shortage of green spaces. : s
sy i . i t -
(i) It is Surprising that children spend much of their time i Fort g here child
: 11areén can
(iv) Americap and European cities don't have many public spaces where ¢

hang out,

i
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(D i, is the i
is the humap right of children, \‘l\ .

(1) To have a good envir s
‘ sHOd Evitonment ta play and enjoy. :
(i) To sit in tront of TV screen
(1i)) To use a mobile phone, \
(V) To remain indoors. \
11 Find the words S 1 i - :
words/phrases in the passage which mean the same as: (1x2=2) \

(1) mix
(1) correction or amendment
(8 marks) :

!d

D N ¢ n 1
Read the following passage carefully:

1. Good decoration reflects the personality of the people who live in the home. It should,
first of all, be distinctive, just as each pérson is distinctive. A home should have unity not
only within each room but throughout the house. Rooms should, to some degree,
harmonise with one another. 'The colour and styling of each room, particularly, should fit
into the colour and styling of the rooms which run out of it.

Attractive home furnishings get the stage for pleasant living. If they are an expression of
yourself, you will have a feeling of satisfaction every time you enter your home, and
friends will share your enjoyment.

However, furnishings and surroundings expressive of just the right note of restfulness,
gay informality, or elegant simplicity are not often assembled by accident. Even
enthusiasm alone is not enough. For most home decorators, it takes poring over plans,
trying colour schemes, finding ingenious ways to make the best of what you have, and
shopping around to search out just the right purchases at prices you can afford to pay.
But there is keen pleasure in striving for the perfect result, ad great satisfaction in

achieving it.

4. A successful house and successful rooms will depend upon the proper relationship of
each element in it to the others and to the whole. Therefore, in selecting each piece it is

well to consider the background, the usage, the draperies, the floor covering, the
upholstering materials, the woods, shapes, colour scheme, and the "feeling" you prefer
for the room.

5. Work and plan to enjoy your house. Limit the expenditures of time, effort and money to
the extent of your abilities, so that just running the house doesn't dominate your life.
Elegance and delicate things may be a drain you can afford only in a limited way. If you
can't afford outside help, select a house and furnishings that require less care. Plan your
activities so that tumult and upset are limited to a few rooms - an activity room or a

bedroom, or a corner of the dining room.
6. You'll get more pleasure out of a house if you have a hobby connected with it- collecting

glass or antiques, gardening or indoor flower growing ceramics, art, cooking, decorating,
flower arrangements, etc. And you'll get more satisfaction and a great deal of help from

studying household activities.

You can select a pleasing combination of colours from a wallpaper, a fabric, an oriental
rug, a flower or a scene, or even a picture in a magazine. If you don't already have the
furniture or the rugs, it is a good idea to make up a colour scheme in thig way. Let one
colour predominate. Limit a colour scheme to two or three colours, with white or grey
tones. These points will help you: (1) Always choose COlOUfS_ that please you personally -
subtle, calm colours if you prefer a restful atmosphere, intense colours if you like

3

b

[V3)
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r. (2) Don't be afrai
reer. ( fraid of colours, Experimenting on paper will give

iveliness and cl
live (But remember, larger batches
of colour are more intense.) Try out

idence.
you confide binations, then live wj
various C lour com inat s n ll\l with the]l] -1 < at the fi tl b f u
olo ook m frequently betore yo

: Colour .
actually start buying. (3) s should harmonize with fumiture, d i d carpets
, draperies and carpets.

n the passage in a suj
s o suitable forma¢ using abbreviations wherever

Make note . i 5
(a) Ma vea suitable title to the passage.
( marks)

necessary. Gi

(b) Write a summary of the passage based on your reading in about 80 words. (3 marks)

SECTION-B (30 MARKS

(WRITING SKILLS & GRAMMAR)

3. You want to hire an accommodation for your pe
. . : X wly start i in rea
garments in Chennal. Wr1.te an advertisement for %;w sarfld ?LIS:)HESS t?ll Le?}fmiflz
classified columns of 'The Hindu'". e to be published In
OR

Draft an attractive commercial advertisement for a pew opened beauty salon and spa by
. ) .
the name of 'Exotica. Your advertisement must promote its services inzm appealing way @
(4 marks)

Abduction and rape of young girls is on the rise in the city capital. Write a letter to the
Editor of a leading newspaper suggesting steps which need to be immediately taken by
the Govt. to make our capital a safer place for women, you are Rohit of F-15 Kamla

Nagar, Delhi.
OR

You are Vinay Shah. Write an application for the post of Vice-Principal at the Modern
Public School, Vatva, Ahmedabad Enclose your CV also. (6 marks)

"Traffic week" is being celebrated in your city. Within the first two days, the police have
booked over three hundred violation cases; Lane breaking, jumping red’ light and speed
violations top the list. Underage drivers are the main culprits. As Subhash Shourie, write
a report in about 150-200 words for publication in a newspaper. ,

OR
You were a witness to a scuffle between two students during recess time. Your Principal

wants to investigate the matter and has asked you to narrate the incident in your own
(10 marks)

words. Write the narrative in 150 to 200 words.
In the following passage, one word has been omitted in each of the lines, against
which a blank is given. Write the missing word along with the word that comes

before and the word that comes after it in the space provided. Remember to
underline the word you have supplied. (6 marks)

-----------

(a) A bookshop not something

-------------------

-----------

(b) you in every gali or mohalla
(c) these days, Books, which once a staple

diet for youngsters in their

...................

...........

-------------------

..........

(d) formative years, fading out of their

list of engagements.
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(©) Ask
kK any youngster which the
(®) latest bookheread

Rearrange the followin

(3 marks)

(1) should remajpy frieic;"’oc:-(] S ﬂnd. phrases into meaningful sentences:
(2)  living room/can be/d; s, ifficulties/and faithful/a friend/in his/sincere
A n be/dining table/or/in a /flowers/placed/on a
adly defeated/for his/had to/life/and/flee/he was

8. Read the dj
ialogue given below i ;
not copy the whole sentence, - Report it by completing the blanks that f(zlll::;t;;))o

Vishal
Hello Dharmendra! Do you know that the class trip to Manali has been
cancelled?
Dh H !
o r;llrmendra No. 1 didn't know that. Why has the trip been cancelled?
ishal Our class teacher is somewhat worried about our safety.

Dharmendra Why is he worried?

V' . . . .
ishal It has been raining heavily during the past week. Our class teacher feels
that a landslide could occur in that area when we are there.

VlSh-al I'net Dharmendra and asked him (a)............ cancelled. Dharmendra replied that
he didn't know that. He asked Vishal (b)............. Vishal told him that (¢)..............
Dhmendra asked him why the class teacher was worried. Vishal told him (d)...........
during the past week and their class teacher felt that a landslide could occur in that area

when they were there.
SECTION-C (30 MARKS)

(LITERATURE TEXT BOOKS)

9. Read the extract given below and answer the questions that follow:-

When did my childhood go?
Was it the day I ceased to be eleven,
Was it the time I realised that Hell and Heaven,

Could not be found in Geography,

And therefore could not be,
In what context is 'eleven’ mentioned in the above lines?

ii) What time is being talked about?
Why don't Hell and Heaven exist, according to the poet?

OR
Silence surrounds us. I would have
Him prodigal, returning to '
His father's house, the home he knew,
Rather than see him make and move

His world. I would forgive him too,
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Shaping from sorrow a new love,
'us' i first line refer to?
i) ~ What does 'us’ 1N the

iiy Whatis the father willing to do?
iii) Whatis the meaning of the sentence, 'Silence surrounds us’?

10. Answer ANY THREE of the following questions:
Justify the title of the article ‘The Ailing Planet : The Green Movement’s Role’ by

Nani Palkhivala.
Does the poet talk of an exclusively personal experience or is it fairly universal in

(9 marks)

the poem 'Father to Son"?
Why did the old lady offer Andrew tea?

Why did Taplow have to stay back at school on the last day?

11. Answer ANY ONE of the questions in about 120-150 words: (6 marks)

(a) "Its silence silences", write Shirley Toulson. The loss of her mother has silenced
her. Do you think that this attitude of the poet is the right attitude to live life ?

Why/why not?
OR
(b) Draw a character sketch of Professor Gaitonde based on specific events mentioned
in the story ‘The Adventure’. _
12. Answer ANY ONE of the questions in about 120-150 words: (6 marks)
(2) The chapter displays the theme of friendship between Amitav Ghosh (the narrator)
and Shahid Ali. Elaborate.
OR

(b) It is essentia] to possess intelligence and common sense to rule over others.
Comment in the context of the chapter "The Tale of Melon City”.

13. Answer ANY ONE of the questions in about 120-150 words) (6 marks)
(@ 'For doctors the duty towards the patients is formost, irrespective of their own %
personal affairs". Discuss with reference to the excerpt 'Birth'. £ -
OR

(b) 'He's an adventurer, but at heart more a meticulous academic than a daredevil.!
Explain the truth of the statement about the author based on your reading of the -

travelogue 'Sy Road' by Nick Middleton.
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Q15
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Q17
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Q21
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a)

b)

b)
a)

b)

a)

b)

b)

b)

L e,

I

vellow light emitted from a sodium lamp has wavelength of 580nm.Calculaté th‘é\‘

frequency and wave
OR ( choice given only for parta)

number of the vellow light,

Find the energy of each of the photons which:

(i)
(ii)

Give one example each of nucleophiles & electrophiles.

corresponds to light of frequency 3 x 101y,
Have wavelength of 0.50 A°,

Write the 1 and m quantum numbers for the last electron in copper( 29) and zinc (30).
OR

Give all the values of four quantum numbers for n=3 )
Show resonance in benzene or the carbonate ion.
What is the pH of a soft drink i concentration of hydrogen ion in it is 3.8 x 10 >M:
pCls,PCl3 ,& Cl, are at equilibrium at 500K and having concentrations 1.59 M, 1.59 M & 1.41 .
M respectively. Calculate K for the dissociation of PCls into PCl; & Cl,. ;
OR
Give two examples each of Lewis acids and bases.
At 450 K, K,,=2.0x1010 bar for the reaction : two moles of sulphur dioxide with one mole of
oxygen gives two moles of sulphur trioxide gases .Find K. at this temperature.
Give the configurations and representation of O, & 0, “by MOT.
Why does BF3 molecule not show dipole though the individual bond is polar.
Explain the shapes of (any two) : NH;, CH 4 ,H,0 using VSEPR rules.
What is hybridisation ; show the type, sigma & pi bonds in C ;H;or BeCl, .
Given: the enthalpy of formation of the gases CO, COz, N2O ,N,04 are —110, =393, 81 &’

9.7 KJ/mol respectively. Find the enthalpy of reaction for:

N,0, +3C0 —> N,0 +3C0;

Give & explain Hess’s law or definitions of enthalpy of formation and neutralization.

Find the oxidation numbers and balance the equation in acidic aqueous medium:

Cr07""+ 505" —> Cr** +504° .

; i dipping in their
Construct / represent the electrochemical cell using Cu & Fe metals dipping

respective salt solutions.
ir oxidation states.
Pick two metals from groups 13 & 14 and compare their oxi
the ion on going down a group.

Explain the t i ct /change in size of
erm screening effect / des of N,0,& F will have lower or

Define the term hydride and explain whether the hydri
mbers .

i : oup me
higher boiling points than the hydrides of their lower group

. 5.
Give one Preparation/manufacture for hydrogen &2

“
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Q23

Q24

Q25

Q26

Q27

the rest of their Broup.

dimer of Becl,

Can sicl, undergo hydrolysis?

How is diborane (B2Hg) formed?

Is anhydrous AICl3 ionic or not?

OR

Give three important properties of group 15 elements.

a)
b)
c)

Briefly explain the Carius method or Duma’s method.
Give an example of polar or free radical mechanism

Explain with example Geometric or functional group isomerism.

Write the following equations (any five):

a)
b)
c)
d)
e)
f)
g)
a)
b)

b)

Waurtz reaction for preparing butane.

Dehydrohalogenation of 2-bromo butane

Zinc with phenol.

Friedel- Craft’s reaction.

Addition of HBr on propene.

Formation of metal salt of acetylene/ethyne.

Decarboxylation of C;HsCOONa.

Give one example and two characteristics of physical or chemical equilibrium.

For the given system maintained at equilibrium

2NOClig <>2NOg+Clig ; Kc=3.75X10®at 1069K

Calculate K, at this temperature (R=0.0831).
OR ( ONLY FOR PART b)
At equilibrium the concentration of N, =3.0X107>M, 0,=4.2x 10°M &NO =2.8x103

In a sealed vessel at 800 K .Find K cfor: Nz (g +029g) ¢ 2 NOjg)

Explain Gibb's free energy Of Entropy and the formula to calculate them.
Given: i) Enthalpy of combustion of methanol = =726kl/mol; of carbon = 393 Ki/mol;
hydrogen =—286 KJ/mol. Calculate the standard enthalpy of formation of methanol.

OR

The equilibrium constant for the given reaction is 10. Calculate the value of Gibb’s Free
ee

d R =8.314 J/Kmol.

Energy Change at T=300Kan




Time

————

11.

12.

13.

14.

:3 i
Hrs + 15 min reading time

. A perso

An :
nual Promotlon Examination — 2019

PHYSICS

CLASS-XI (A& B)

Q.No. l1to5s 1 Mark each

QNo. 61012 2 Marks each
Q.No. 13 t0 24 3 Marks each
Q.No. 25t0 27 5 Marks each

Ifg’i .
& 1s the acceleration due to gravity & A is wavelength, then which quantity does
VAg represent. |

What is the magnitude & direction of i -+ j?
What happens to coefficient of friction when weight of the body is doubled.

: _ - . d e
Watc?r rises to a height 20mm in a capillary tube .If the radius of the capillary 15 made 1/37 of its
previous value, to what height will the water now rise in the tube.

When light undergoes refraction What happens to its (i) frequency (ii) wavelength

Estimate the average energy of helium atom at (i) room temperature (27°C) (i) temperature on the
surface of the sun (6000K)

Figure shows two vibrating modes of an air column. Find the ratio of frequencies of two modes.

g )

Starting from the equation PV = 1/3mnv” state & derive Avogadros Law.

Using Bernoulli’s principle explain how Paint sprayer Works.

n with heavy weights in his hands pulls his hand towards his chest to increase the angular

speed of the turn table. Explain ?
OR

It is difficult to open the door by pushing it or pulling it at the hinge. Why ?

TRV AT S

How does acceleration due to gravity changes due to depth? Derive relation.

A body of mass ‘m’ moving with speed ‘v’ collides elastically head-on with another body of mass
m initially at rest. Show that the moving body comes to stop as a result of this collision.

What is isothermal Process? Derive a relation for the work done in this process.

A transverse wave on a string is described by
y=3Sin (36t + .0018x + ) where x & y are in cm& t is in sec.
Find the (i) Amplitude (ii) Frequency (iii) wavelength (iv) Speed (v) Initial phase (vi) Direction of

propogation
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15.

16.

17.

18.

19.

20.

21,

22,

23.

24.

25.

26.

27.
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R S e S

RS BAARSE

Eight rain drops of rf.ldms ]‘m‘n} ach lzlllm_g do}”ﬂ with a terminal velocity of Sem/s coalesce 10
form a bigger drop. Find the terminal velocity of 4 bigger drop

5 moles of oxygen arc heated at constant volume from, 10°C 10 20°C. What will be the change in

St j as? The pr vioe
the internal energy of the gas gram molecular g ecific J > constant pressurc
=8 cal /mole/’C and R — 8.36 J/mole/°C, p ¢ heat of oxygen at constant p

Define SHM. Derive the rclaligx;{for the time period of oscillation of a vertically loaded Spring.

Derive expression for instantaneous Kinetic & Potenig Energy of a body performing SHM.

Draw energy distril?ulioll curve for d black body for 3 different temperatures Ty T2 & T3
(T1>Tx>T3) Write 2 important laws which can be explained from these curves .

What is Newtons Formula for speed of sound in air Why this formula needs correction .Explain.
A steel rod has a radius of 10mm & length Im .A 100kN force F stretches it along its length.
Calculate (a) SIIII'CSS (g) Elongation (c) strain on the rod. Given that the Youngs Modulus Y of
steel is 2.0 x 10" N/m”. ‘

Find the Area of a parallelogram formed by vectors A = 3j + 2j,B=-3i+7.

A solid sphere is rolling on a frictionless plane surface about its axis of symmetry. Find the
Rotational Kinetic Energy and the ratio of its rotational energy to total energy .

Define orbital velocity & establish an expression for it .
Calculate the value of Orbital velocity for an artificial satellite of earth orbiting at a height of

1000km.
Given: Mass of Earth = 6 x 10* kg Radius of earth= 6400km.

Derive an expression for excess of pressure inside a soap bubble.
The air pressure inside a soap bubble of diameter 3.5mm is 8mm of water above the atmosphere.

Calculate the surface tension of soap solution.

Draw a ray diagram of Compound Microscope. showing the formation of the final image at least !
distance of distinct vision And also Establish the Magnification Formula

B
[
¥
4

OR -
Derive the lens Makers formula for a double convex lens. State the assumptions used & the
convention of signs used.
Draw the P- V diagram of Carnot’s cycle . Write down the expression for work done in each
process. Derive an expression for the efficiency of the cycle.
What is Doppler’s Effect Derjve an expression for the apparent frequency when the source of -
sound is approaching a stationary Observer. il A v S :
A train stands op g platform blowing a whistle of frequency 400hz. in still air o

. . -1
() What is the frequency of the whistle heard by a man moving towards the engine at 10ms ? i

... (Velocity of sound in in air = 340m/s)
(i)  What is the speed of sound in the above case ?

. 9 : Je At
(if) - What is the wavelength of sound received by the running mér . o

'S'canned by CamScanner



